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public class CycleArray {
private int size;
private int front;
private int rear;
private int[] arr;

public CycleArray(int size) {
this.size = 0;
this.front = 0;
this.rear = -1;
arr = new int[size];

}

public int poll() {
if (size == 0) {
throw new RuntimeException("BAZI=");
}

inti = arr[front];
decreaseFront();
size--;

return i;

}

public boolean offer(Integer node) {
if (size == arr.length) {
return false;
}
increaseRear();
arr[rear] = node;
size+ +;
return true;

}

private void increaseRear() {
if (rear == arr.length - 1) {
rear = 0;
} else {
rear++;
}

}

private void decreaseFront() {
if (front == 0) {
front = arr.length - 1;
} else {
front--;
}

}
}
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public static class TwoStacksQueue {

}

public Stack<Integer> stackPush;
public Stack<Integer> stackPop;

public TwoStacksQueue() {
stackPush = new Stack<Integer>();
stackPop = new Stack<Integer>();

}

// pushtkE poptkEI NEHE
private void pushToPop() {
if (stackPop.empty()) {
while (!stackPush.empty()) {
stackPop.push(stackPush.pop());
}

}
}

public void add(int pushint) {
stackPush.push(pushint);
pushToPop();

}
public int poll() {

if (stackPop.empty() && stackPush.empty()) {
throw new RuntimeException("Queue is empty!");

}
pushToPop();

return stackPop.pop();
}

public int peek() {

if (stackPop.empty() && stackPush.empty()) {
throw new RuntimeException("Queue is empty!");

}
pushToPop();

return stackPop.peek();
}
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public static class TwoQueueStack<T> {
public Queue<T> queue;
public Queue<T> help;

public TwoQueueStack() {
queue = new LinkedList<>();
help = new LinkedList<>();

}

public void push(T value) {
queue.offer(value);

}

public T poll() {
while (queue.size() > 1) {
help.offer(queue.poll());
}

T ans = queue.poll();
Queue<T> tmp = queue;
queue = help;

help = tmp;

return ans;

}

public T peek() {
while (queue.size() > 1) {
help.offer(queue.poll());
}

T ans = queue.poll();
help.offer(ans);
Queue<T> tmp = queue;
queue = help;

help = tmp;

return ans;

}

public boolean isEmpty() {
return queue.iskmpty();

}
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